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(General Instructions to Candidates : \
* There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

» Use ‘cool off time’ to get familiar with questions and to plan your answers.
* Read questions carefully before answering.

* Read the instructions carefully.

o Calculations, figures and graphs should be shown in the answer sheet itself.
» Malayalam version of the questions is also provided.

* Give equations wherever necessary.

o Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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PART -1

Answer any 5 questions from 1 to 6. Each carries 1 score. (5%1=5)
1. The temporary storage location inside CPU is called

2. A is a large printed circuit board in computer to which all the major
components including the processor are integrated.

3. The process of detecting and correcting errors in a program is called
4. The tokens that convey a specific meaning to the language compiler are called
5. The fundamental data_type that uses 8 bytes of memory is

6. The starting symbol of a pre-processor directive statement is

PART - 11
Answer any 9 questions from 7 to 17. Each carries 2 scores. (9%x2=18)

7. Despite the high speed and accuracy, computers are said to be slaves of human beings.
Why ?

8. Differentiate ASCII and Unicode.

9. Arrange 'tlie"fouo'\.'éving memories into descending order of their speed :
RAM, Cache, Register, Hard disk.
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PART -1I
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9. moey mmidleaim e0oCleHeg BUNMWINS @GR (HACTHM af) @b
RAM, Cache, Register, Hard disk.
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10. a) What is the difference between impact and non impact printers ? Q)

b) Give one example for each. 4}
11. Compare freeware and shareware.

12. The program written by one person may need to be modified by some other person in
future.

a) Which phase of programming will be helpful for this ? 0))

b) List the two methods used in the above phase. 0))

13. Identify the type of errors in the following situations.
a) Rules of the programming language are not followed. §)
b) The program compiles successfully, but the output is wrong. @

14, What are the rules to name an identifier ?
15. What is the difference between x =5 and x == 5 in C++ ?

16. Find the R value and memory size of the variable total from the following C++

statement
float total = 34.6 ;

17. Rewrite the following expressions using arithmetic assignment operators.
a) x=x/1 )
b) y=y%l 1)
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14. oW Flao@dlm Gald M@B:0MI88 MRaE agl ?
15. CH ad X =5 90 X ==15 9o manfla|gs alymPmo ag)omosm ?

16. eflgjowyam C++ agpaoaddlad aflom” total agym saudlwenidled R value, omand
OOMMY )M HOENBEDIS:.
float total = 34.6 ,

17, moey emmidenymau eedomaads: @raamadantd 8oae0qh dalswoudlel aoglowvimie.
2) x=x/1 8)

b) y=y%1 eY)
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PART -1II

Answer any 9 questions from 18 to 28. Each carries 3 scores.

18.

19.

20.

21.

22,

23.

24.

25.

List the stages of data processing.

If1110011,=A, =B, =C,. Find A, B and C.

a) What is the use of language processor in a computer ?

b) Explain any two types of language processors.

a) What is an operating system ?

b) Write the major functions of an operating system.

List the phases in programming.

a) Define token in C++.

b) Name the tokens available in C++ with one example each.

a) What is the difference between character literal and string literal ?

b) Give one example for each.

Explain any two types of statements in C++.
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18.

19.

20.

21.

22.

23.

24,

25,

wog elatomupflovdiang caigamsnd elimy o1 .

1110011, = A, =B = C,.ep@oad A, B, C agyariicu #:06mys.

a) SRS 210061JE EIOMPAING HalBWINo ag)m ?

b) ageoelele 2 mocmilenss eoenied BlaldMROE®A Alldletlen .
a) &dqje0glowd Migyo ag)amIM ag)w ?

b) &ogjeoglew’ migyamladd wlwom wWAMEM® ag)P®id:.
slatomodlsndle aflafiw eaIgamB@ ag)wimys:.

a) C++ eal token afldqafenis.

b) C++ @b 218)2® ESOEOMIEBRINS Ball ROBOI HRIADDEMMai®o ag)PIM)d:.

a) &yoagd elgod, migledelgoad agmic madlegs alymyomo agym ?

b) 9600 HBNNEMO ag)PIMId:.

C++ oa1 agamsslalje @608’ ®mo oM@ ludadeanye.
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26, If m = § and n = 2, write the output of the following expressions

27.

28.

a) mly
b) (m==n)
¢) (m>10)&&(n<S5).

Detect and correct the errors in the following C++ code.
sinclude<iostream>

using name space std;

int main

{

inta,b

cout<< “Enter two numbers:”;
cin>>a and b;

at+b=c;

cout<< “Sum ="<<c ;

return 0 ;

}

Write the output of the given C++ statements.
a) cout <<7/2;
b) cout <<7/2,0;

¢) cout <<7/(int) 2.0;
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m =15 go n =2 go @eeMEslad oo ag)dslnletmysaies output ngPims:.

a) mly 1)
b) (m==n) (1)
¢) (m>10)&&(n<5). )

elojo@yamn C++ emoauflonl allnd o eaema eloyemys:.
sinclude<iostream>

using name space std;

int main

{

inta, b

cout<< “Enter two numbers:”;

cin>>a and b;

atb=c;

cout<< “Sum ="<<c ;

return 0 ;

}

moay marigias C++ statement 8108 8930133 ag)Pims.

a) cout <<7/2; )
b) cout <<7/2.0; ' @
c) cout <<7/(int) 2.0; ' ‘ 1)
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PART -1V

Answer any 2 questions from 29 to 31. Each carries 5 scores. (2x5=10)
29, a) Explain various methods for representing integers in computer memory. (3)
b) Represent — 35 in any two methods (Hint : Use 8 bit representation). )

30. a) “e-waste is a major problem faced all over the world”. Justify the statement. (1)
b) Explain e-waste disposal methods. C))

31. a) Define Algorithm., 0]
b) Write any four characteristics of an algorithm. )

¢) Draw flowchart for the following algorithm. )

Step 1 : Start

Step 2 : Input N

Step 3 : If N%2=0 then

Step 4 : Print “Even number”
Step 5 : Else

Step 6 : Print “Odd number”
Step 7 : End of if

Step 8 : Stop
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29 aymed 31 cuonw g salon)rglad agommlale 2 agepeniia’ pomoaavimid. S aapod alime.
(2x5=10)

29, a) Hmuysd enmdleid alydemmoao woalawyemiad dale:d alwdedenie. 3

b) Represent - 35 agomsileo 2 dolaid iafialule.dleyd.

(Hint : Use 8 bit representation). (2)

30. a) ;g?sizm?gig@ emaIsym &ay (WM (al@o @PEM §-ealg)”. D (IROUMOD a

b) e-scugy ddmodmem dale:id afluwde:dloeis:. @)

31. a) mr@ewodimo MAQIaleeys. 1)

b) eny @vadcnodimenio agemesiage 4 MIBOAI MANGRAUME:WD ag)PImis:. )

C) oY 60 amdlenym @eaemodlmamiad degoalods mcomces. | | Q)
Step 1 : Start

Step 2 : Input N

Step 3 : If N%2=0 then

Step 4 : Print “Even number”
Step 5 : Else

Step 6 : Print “Odd number”
Step 7 : End of if

Step 8 : Stop
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